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FA A=
B ol A Ust
ol MEES 54 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 2,981,516
= 27,289
B (LHS)BelAY 8,000 10,000 £2,000
401 AIEHIL L] 8,000 10,000 £2,000
01 A&l 8,000 10,000 A2,000
OEE4(LHS) 2Mez U +HTHEY
2,000,000& *4= 8,000
2S+ZHIAY 11,963 11,965 N2
s 3,589
s 8,374
401 AIEHIZ SR OHYI 11,963 11,965 YV
< 3,589
Ea 8,374
01 Al&HI 11,963 11,965 A2
2l 2 FHEL
3,987,600 +3= 11,963
= 3,589
o 8,374
== MAAE 50,000 50,000 0
401 Al HIZ S OHbI 50,000 50,000
01 A28l 50,000 50,000
ORE == MHAIE 500,000& 1002 50,000
A=A 155,039 151,243 3,79%
101 e124d| 78,092 76,191 1,901
M ORIM2ZISES 78,092 76,191 1,901
OLHZAANZATSR o12it|
78,8802 x180&+5& 70,992
O4i2EE S 70,992,000& *10% 7,100
201 Zet=3h] 71,887 68,912 2,975
01 AtR2t2lHl 12,287 14,207 1,920
O Y RIIHEls| AT
70,0002 12 840
OAZYNH2E HIA22T 24|
8,000& » 1802 x4 «00% 5,184
Ott=2xy s 70,0002 *207K 1,400
OttExy 2l 4,000 *300H 1,200
Ogats et a2t 10,0002 *90H 900
OFAISXILY B2 10,0002 +50H 500
OdtsngEse dHXl 1002 *4,0000H 400
OttExy Als i 40,0002 *320H 2~ 1,280
OUEZAEL LXZ(S3HAT)
200,000 104 A 200
OtEUSHE I X2
31,9002~ 12 383




FA AE=
mu: oo AMA U3
ol MEES 54
RA - I BRA(E) - HRA - BES of vy A
02 S22l 59,600 54,705
OLr=2LUZ A HIIMNES
10,0003 * 122 400 2 480
OL=RAZ A SUAMEIA 2
4,0002 ¥ 12Z =47} 2 192
OReIENL ABE
20,0003 * 122 20l A 480
OZ Y A=K AITHHCH SIHAIZS
110,000 #1210 A 1,320
Of&I| ==cl 33,0003 *60CH *50% 990
OthE2l P 33,0002 +60CH+50% 99
ORFIIZAL & 5101442
1,000,000 *14] 1,000
O&= XXt =X 7,556
-25U 60,0002 * 122 x4CH*95% 2,736
-288 500,000 *4CH*95% 1,900
-SHMHRE=S 50,0002 «4CH 200
=P 130,000 *4CH 520
- A2 500,000 *4CH 2,000
-GAte=r2 50,000 *4CH 200
Our=28sHE A= dES RRU
10,0002 * 1002 1,000
Otr=2ZAIE =2 RFU
125,000& x52 +63H 39,375
O =LANUH=2E ==U
250,000& +62 1,500
Out2ZAIE E8 || 1,000
-2z 500,000 *1CH 500
-= Xl 500,000 *1CH 500
OMESZAICCTY EBIEZ R(2204h)
72,0003 * 122 864
OLEUSHE TV =tz
20,0002« 128 240
OZLENEX | 2=
2,613,000 1CH 2,613
206 =4I 1,400 1,400
01 M=4l 1,400 1,400
OttEx=4dHl =23+
20,0002 *70H 1,400
301 LENZF 2,560 2,560
11 dALEEIXIRE S 2,160 2,160
OMENLNZR R Sl
8,000 x452H+63] 2,160
4Bt 2 a3 400 400
O&E4IDR ZAZ 200,000 *23] 400
308 L= 1,100 1,100




FA A=
ma: olol AMA A3
Selr AFEIRY |4 EER=E)
SA - B BRA(SH) - HRA - of v G o HIDE2
01 &= 1,100 1,100 0
Ot o= SHAY 1,100
32y 500,000 1S H 500
-25d 300,000& +2IHSH 600
MEZAIE 741,645 723,600 18,045
[ 148,329
T 593,316
101 @124H| 741,645 723,600 18,045
= 148,329
= 593,316
M IRINZZENSE 741,645 723,600 18,045
(@)uFal: = 741,645,000 741,645
= 148,329
Ea 533,316
A=Y LSHTH 787,097 768,818 18,279
= 314,838
= 141,678
Ea 330,581
101 @124H| 757,702 739,423 18,279
= 303,080
= 136,387
= 318,235
M IRINZZENSE 757,702 739,423 18,279
@)uFal:] 681,523,000& 681,523
= 272,609
< 122,674
= 286,240
odli2se s 57,709,000& 57,709
= 23,083
[ 10,388
T 24,238
oz2%= 384, 7903 48 18,470
= 7,388
[ 3,325
Ea 7,757
201 er23| 29,3% 29,3% 0
= 11,758
[ 5,291
Ea 12,346
01 At2t2lt] 24,010 24,010 0
Out=dy ESXe gtz
24,010,000 24,010
= 9,604
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FA A=
B ol A Ust
ool AEREe |4 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 677
s 1,579
202 04l 5,600 4,200 1,400
= 2,240
< 1,008
= 2,352
01 2LHoIH 5,600 4,200 1,400
Ott=d=E S0 5,600,000& 5,600
= 2,240
== 1,008
[Ea 2,352
206 MH=HI 15,610 15,610 0
= 6,244
== 2,810
o 6,55
01 MHZHI 15,610 15,610 0
OJHeI & SHEH] 15,610,000& 15,610
= 6,244
=S 2,810
s 6,55
AENSHH A=E2E(AN2EX) 4,810 62,810 /58,000
= 1,924
= 866
o 2,020
201 fet=3| 4,810 4,810 0
= 1,924
= 866
Ea 2,020
02 S3=gHl 4,810 4,810 0
Ottt 22 HAIAE 130, 0002 »37CH 4,810
= 1,924
= 866
= 2,020
SHEAEHHA 2EES 2,860 2,860
201 er=23y| 2,860 2,860
02 S3=gHl 2,860 2,860
OUEZAIE S| AMIAE 2]
130,000 »22CH 2,860
AENSEH Y ZAHIYER) 4,457 4,457 0
308 XXM SOIA 4,457 4,457
07 AX L= 4,457 4,457
Odtsdeolel nssd ot
4,457,000 4,457




FA A=
B ol A Ust
ol MEES 54 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEdEE IRt 229,122 117,559 111,563
308 XXM SOIA 229,122 117,559 111,563
07 AX R FE= 229,122 117,559 111,563
Ouat=2dstE &l &t 229,122,000& 229,122
sSHEIELY B 58,240 42,000 16,240
= 24,960
= 9,984
s 23,296
402 QI2F X201 & 58,240 42,000 16,240
= 24,960
[ 9,984
T 23,296
02 QI X2 AL EE(OIHTHE) 58,240 42,000 16,240
OFeig =1 LY
3,640,000 * 16CH 58,240
= 24,960
< 9,984
Ea 23,296
ARISEXE S 222 25 15,600 20,000 4,400
= 7,800
< 2,340
[Ea 5,460
402 BIZtAH=01 A 15,600 20,000 A4,400
= 7,800
=S 2,340
s 5,460
02 RIENEASEZ(0IETHR) 15,600 20,000 4,400
OAt2I=XIE =1 22
5,200,000 =3CH 15,600
= 7,800
=S 2,340
s 5,460
SPAFERTHER B AT 39,900 28,700 11,200
= 19,950
= 5,985
o 13,965
401 AlZHIZ SO 39,900 28,700 11,200
= 19,950
= 5,985
Ea 13,965
01 A28l 39,900 28,700 11,200
OLIAIEHE A eI XIS AEHEAL
700,000& %57 H 2 39,900
= 19,950




FA A=
mE: ol M Y3t
ol MEES 54 EER=E)
SA - B - SRUBH) - MRAR - BAS A HIDEZ
[ 5,985
s 13,965
SRAMER F XIS X2 £X 8,000 8,000 0
= 2,400
o 5,600
401 AIEHIX R0 8,000 8,000 0
=S 2,400
s 5,600
01 AlZ28| 8,000 8,000 0
OALAFEN FI2FXI EXIBH &
800,000 *107H A 8,000
S 2,400
= 5,600
At THOHIIcH KIS 2=+ 6,560 27,250 A20,690
201 Ler23 | 4,850 5,350 A500
01 At2teltl 4,850 5,350 A500
OLAIRH XS KIS a2 ?ld B4+
70,0002 +5% 350
OMATHHIIHA SS=7 HHIYKE
500,000 ~9CH 4,500
206 M= 1,710 1,900 A1
01 KH2H 1,710 1,900 A190
ONSTHAHTIGHN S2ET +LTH 2
1,710,0002 14| 1,710
A THOH L K2l (AAFEH S Z O 2 E) 61,140 59,882 1,258
= 24,456
= 11,005
= 25,679
101 @124H| 52,540 50,818 1,722
= 21,016
< 9,457
T 22,067
M ORIMZZ2NSE S 52,540 50,818 1,722
Oel2idl & SEHl 12,635,000 x4 50,540
= 20,216
== 9,097
o 21,227
OLl=H| 500,000 x4H 2,000
= 800
== 360
o 840
201 et ] 8,600 8,364 236
= 3,440
s 1,548




FA A=
B ol A Ust
ol MEES 54 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o 3,612
01 AtR2t2|HI 6,300 5,950 350
OLHAIEIS Z oI S Xt &Rtz
900,000 +7& 6,300
= 2,520
= 1,134
Ea 2,646
02 S3=gHl 2,300 2,414 A114
O==U 2,000,000& 2,000
= 800
= 360
Ea 840
(@F=3:[E=IN]:] 150,000 *2CH 300
= 120
& 54
Ea 126
SY & FEX 2l 3,100 3,800 AT00
201 fer=3| 3,100 3,800 AT700
01 AtR2t2|HI 3,100 3,800 AT700
OSY AR HEBAT 22 U TA 242
500, 0002574 A 2,500
OMEBSCHE E9 840t
40,000 * 150K 2~ 600
A AL 261,390 232,426 28,964
308 AXIMSOIA 261,390 232,426 28,964
07 HXHH 2252 261,390 232,426 28,964
OAEXIAF(0.8ha) 5,832,000& 5,832
OHZE2H At (2km) 34,878,000 34,878
OAHL & (5IHA) 112,500,000 112,500
Ottt (1HA) 101,790,000& 101,790
OAH e 2t2) (3002 ) 1,890,000& 1,890
OAFLHE OFM =X (10HA) 4,500,000 4,500
2etEolE Y 31,848 40,615 18,767
= 16,437
= 4,623
o 10,788
206 M=l 31,848 40,615 N8,767
= 16,437
= 4,623
Ea 10,788
01 M=4l 31,848 40,615 A8, 767
LCIHGNE LR (LEHE S XALH 125h
LEMH 5ha) 31,848,000 31,848
= 16,437
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A AE=sIID
B ol A Ust
SR AERAS 'Y (St &)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
i 19,698
101 2124 52,480 56,226 A3,746
= 26,240
& 7,872
i 18,368
M I1RINZ2Z2sSEs 52,480 56,226 A3, 746
OAXLRMNEEY Olsts =4 RF
1,312,000& * 103 *x4H 52,480
= 26,240
& 7,872
= 18,368
201 Ler2 | 3,800 4,600 A800
= 1,900
& 570
= 1,330
01 Ar22eltl 3,300 3,800 AB00
OALIRMAEE OlsHs =2 280U
AxE L MIIEA EAHUI
2,500,000& 2,500
= 1,250
= 375
= 875
O2AURMEHEE OlsHSE =4 =37
800,000& 800
= 400
= 120
= 280
02 32| 500 800 A300
O2AURMEEE OlsHE =4 MRS
500,000& 500
= 250
& 75
i 175
AURPTHEEY HEZAR(EX) 45,662 21,053 24,609
= 5,512
= 12,861
= 27,289
101 el t| 45,662 21,053 24,609
& 5,512
i 12,861
= 27,289
03 SR (RIAHY) 22T E> 45,662 21,053 24,609
OALIRHHASE GHEZAMR B 27,289
220 2,337,0002 *1Z 62 14,022




2A: A=
B ol A Ust
ohol: MRITIRS |4 (rel: &gl
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
= 14,022
-u =l 120,000& *1Z 63 720
= 720
-tHelest| 50,0002 *1Z 63 300
= 300
-SHHg A 140,000 *1Z 62 840
= 840
A2+l =E 17,4702 x5 A| 2163 4,717
= 4,717
~HEZOHI 2,337,000 *60%*1H *13] 1,403
= 1,403
-2l 2,337,000 *25%*1H +23| 1,169
= 1,169
st =P S = 50,0003 * 18« 12& 600
= 600
-2 4| 93,2003 x 1+ 15 1,398
= 1,398
-t 20,0003 x1H 6 120
= 120
-S04 2,000,000& 2,000
= 2,000
OALIRTESY HEZAIA B(2X) 18,373
-2=0 2,337,002 x 15«63 14,022
= 4,206
= 9,816
-uEH| 120,000 *1Z 62 720
& 216
i 504
-HRIE =] 50,0002 *1E+6& 300
= 0
i 210
-SHHZ A 140,0003*1H+6& 840
& 252
i 588
-AlI2tRl =5 968,000 963
= 291
= 677
~HEFIH| 2,337,000 *60%*1E *13] 1,403
= 421
= 982
-tEg 20,0003 x1H+6 120
= 36
i 84




FA A=
B ol A Ust
ol MEES 54 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
=g HE LAY 2,046,000 0 2,046,000
= 1,023,000
== 306,900
[Ea 716,100
401 Al HIZL S 0HYI 2,046,000 0 2,046,000
= 1,023,000
=S 306,900
s 716,100
01 AlZ28| 2,040,000 0 2,040,000
OF=2 L ZdAY
2,040,000,000& *14] 2,040,000
= 1,020,000
= 306,000
o 714,000
03 Al 20HHI 6,000 0 6.000
OF=gdl XdAIY S0t
6,000,000 6,000
= 3,000
s 900
s 2,100
Nedd =E AL 50,000 75,000 A25,000
401 AlEHIZL SO 50,000 75,000 /25,000
01 Al&HI 50,000 75,000 225,000
OFOIETH NAREHY LMY
50,000,000& » 14 50,000
Sl SFAE 773,845 0 773,845
= 386,922
o 386,923
401 Al HIZ S OHbI 773,845 0 773,845
= 386,922
o 386,923
01 Al&HI 755,489 0 755,489
07.9.~7.19. Sl STAS (AHALER)
654,199,000 x14] 654,199
= 327,099
= 327,100
07.9.~7.19. UK SFAE (&)
101,290,000 *14] 101,290
= 50,645
s 50,645
02 22/l 13,386 0 13,386
O7.9.~7.19. SLTIGH SALS(AHALEY) 22l
665,243,000& *1.66% 11,044
= 5,522




FA AE=
M gy ZdH Yt
ol MRS =4 (EEEE))
A - Z - E9I(E) - KIRAY - BaS ofl &4 G o HIDEY
[ia 5,522
07.9.~7.19. S0l SPAMS(SE) el
103,632, 000& *2.259%% 2,342
= 1,171
[ias 1,171
03 A2 THYI 4,970 0 4,970
(07.9.~7.19. SUIoH ST AL (AALER) SOHH
669,461,000 +0.63% 4,218
= 2,109
[ia 2,109
07.9.~7.19. S0 SPAMS(SE) UL
104,384,000 +0.72% 752
= 376
[ias 376
=XE2t 24 - 2tel 4,971,040 1,177,604 3,793,436
= 250,000
Il 1,250,000
= 781,224
i 2,689,816
22Xy & 22 606,316 311,036 295,280
101 e124d| 218,420 213,140 5,280
04 JRHNIZ2Z2XSE+ 218,420 213,140 5,280
OZZ XY 22d FY 218,420
-2 78,8803 x250 x10H 197,200
“UEE=s S 197,200,000 *10% 19,720
-HEES Y 150,000 %10 1,500
201 2= 8,960 9,460 A500
01 AFS2t2ltl 4,400 4,900 A500
OxZxd =& ZHIYIH2AD!, EXt S)
500,000 *7CH 3,500
OZ2ZXd ME M 20,0003 »45% 900
02 S3=24Hl 4,560 4,560 0
OZLXEMNE =8 27U
1,800 103 *250L 4,500
O222= 2 HMA(ae &)
5,000& 122 60
206 MH=H| 78,936 88,436 A9,500
01 M=4l 78,936 88,436 29,500
OZZEME 225 72¢
7,300 4754 3,468
OFZXEME =8 M= 42,468
-2 24X 4 2
20,0002 «250kg 5,000
-2Z 24 @ dAE 2E P2
500& 52,0002 26,000




FA A=
B ool Ame Ast
el sX82 &9 - 2 EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
DIEH (S E Hlg, s §) 7Y
11,468,000 11,468
Ozs =M 22 & =M M
5002 #66,000= 33,000
401 AIEHIZ SR OHYI 300,000 300,000
01 Al&HI 300,000 300,000
OS==2ME g 28
55,000,000 *3H 2= 165,000
OS=ZUME ~d 2 £E€=
30,000,000 #20H 2 60,000
Ougzt 2otz A 28 ZA
75,000,000 75,000
=sXxd & 2l 298,152 256,375 4,777
101 e124d| 156,852 183,075 3,777
M ORNZZ2NSE S 156,852 183,075 3,777
OJtzs=2te|3 21| 156,852
-2 78,8803 x 170 +8H 107,277
-H=JIEY 2R
105, 7003 x40 ~8H 33,824
-PrE g 50,0002 x8E 1 400
“AlEE=E S 141,500,800 *10% 14,151
-HHES 7Y 150,000 ~8& 1,200
201 er2 3| 29,220 33,220 24,000
01 AtR2t2|HI 14,250 18,250 24,000
OfIg+==2MA EHl Xz
625,000& x20& 12,500
Oz, 22 S SE=A =9, oy
S M= 70,0003 %2574 1,750
2 35234l 14,970 14,970 0
O IIAHHl FAl2c 11,550
-25U 2,000,000 *3CH 6,000
-2 X 22| 950,000 *3CH 2,850
-SHNERE=S 50,0002 «3CH 150
-NSIA & XS HEI B AL
50,0002 *3H 150
“NSAEE 800,000 *3CH 2,400
OJiz2eIMe =8 2F]U
1,800 » 103 *190L 3,420
206 MH=HI 2,080 2,280 A200
01 MZH| 2,080 2,280 A200
Odtz2e|Atd =8 225 FY
8,0002 *260 7K 2,080
401 AIEHIX R0 110,000 65,000 45,000
01 A28l 110,000 65,000 45,000




A AE=sIID
B ool Ame Ast
el sX82 &9 - 2 EEED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OGZ 4 At THHl =33 =X 2= &
HIAHS 20,000,000&*13] 20,000
2E ALY X &2 0lA A
18,000,000 +141 18,000
OHEBAX ZZ4 0/AAL
1,000,000& 122 12,000
OZ8IMAE Tyl JiI2s & 23 =5 dEA
& 60,000,000 14! 60,000
AMRIAHIAEROI(SAI=sXI 22| (HSA) 23,869 23,306 563
T 15,514
= 8,355
101 2124l 22,669 23,306 AB37
T 14,734
= 7,935
M IIRINZ2EXsSEs 22,669 23,306 AB37
O Al=sX2e|d el2d|(XEt)
22,669,000 1Y 22,669
& 14,734
= 7,935
201 B2 AY| 1,200 0 1,200
T 780
[ 420
2 S=29| 1,200 0 1,200
OZA=X22d 2% *F0I(MEH
1,200,000 *1CH 1,200
= 780
= 420
SMNTlE =Y - 22l 23,140 23,140 0
201 LB-2AH| 3,140 3,140
02 32| 3,140 3,140
o@II3 50,0003+ 12& 600
O&ot=E 23 20,0002 128 240
OAI& - EZHIRXb] 500,000 * 14 500
O=MMTl= A2 AIY =& 232U
1,800 *10& »100L 1,800
401 A& B 20HY| 20,000 20,000
01 AlEHI 20,000 20,000
O=MMT = (2014 24) H=8Y
10,000,000 & 23] 20,000
A& T X (sChel F=3)22! 165,683 139,456 26,227
101 @124l 158,553 133,556 24,997
MU IIRHNZ2EXsEs 158,553 133,556 24,997
OZag &3 olAy| 136,861
-0 78,8803 170 +7H 93,868




SA: =X
B ool Ame Ast
el sX82 &9 - 2 EEED
S B SR (BI) - HISAY - BAS Ofl by G o MimE=EY
I ESTETIEEE
105, 7003 *40 !+ 7 29,596
-“4U2ss S 123,463,200 *10% 12,347
OtNES P2 150,000 *7H 1,050
Ob|l2s=s2e|! olA| 21,692
-01£¢e] 78,830 x250 L« 1H 19,720
A28 S 19,720,000 *10% 1,972
201 LEr2AH| 3,930 3,150 780
02 Bs249H| 3,930 3,150 780
OZ& LAY =8 SFUH
1,800& x10& *175L 3,150
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OsEAIE= RAl2el
1,710,0002 %14 1,710
206 M=l 14,175 15,750 1,575
01 M= HI 14,175 15,750 A1,575
OXNHUEHSE 2EME 7L
865,000 52 4,275
O 7¢ 135,000 *10CH 1,350
OZ, L= 74 4,275,000 14| 4,275
O=xdg aZdus 24 A7
2,565 %208 *502] 2,565
Ozl TS 28 uwd HeHI7L
4, 275320 =202 1,710
301 EtE N = 11,970 13,300 21,330
14 J|EIE &S 11,970 13,300 1,330
Os=HMg 2208 2ox=g
70,0008 %1352 9,450
OgtZlat THA NS 25ud 22+
70,0002 %362 2,520
401 AlEHIZL S0 18,000 178,000 A160,000
01 Al&H| 18,000 178,000 160,000
Ogtz|at TIAMEIS Y SHAIEZE Ex(&
A S AL 18,000,000& » 14 18,000




SA A=
0 NS SE2e
&Pl FUSE sXSBd Td2a (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
405 AHaHE = 600 700 A100
01 It =S F = 600 700 A100
Oul=J] ¢ 600,000 *1CH 600
H=HOISH 2 59,314 59,074 240
101 @12A4H| 39,047 38,097 950
04 JIZtN2 2N S 2+ 39,047 38,097 950
OBLTAIZ H2IA(XY) o=l
78,8802 1302 * 1 10,255
OF=dAZ 22J(FT) U2Y
78,8803 *x320& 1 25,242
odli2sges s 35,496,000& *10% 3,550
201 eer23y| 20,267 20,977 AT10
01 AtR2t2|HI 10,900 3,810 7,090
S8 =Aldl 500,000 *1CH 500
OMNEEE € 483 78
2,000,000& 2,000
Ogdssg 150,000& 42 600
OS] 2eld| 220,000 x 122 2,640
O&DIotA 2telbl 80,0002 122 960
O2==F3stAl4 2eld] 350,000& * 122 4,200
2 S5=2g4l 9,367 17,167 A7,800
OdoteEe= 57,0003 * 122 684
OIS (A2, =SBIX)
500,000 * 12 6,000
ORdeYs MEB 9,900~ 128 119
Od=7 Al 2,400 x568m 1,364
O0ll=J1 2eld 1,200
-0I=J1 |XH| 300,000 *2CH 600
-0I=J] R=H| 100,000 *62] 600
=0t =7l 30,000 20,000 10,000
307 @I2t01 & 30,000 20,000 10,000
04 QIZHHAMAIH 2 £ 30,000 20,000 10,000
OF= Ot=H H= 30,000,000 *14! 30,000




